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Note: when a woman enters a marriage, any assets she brings in are considered 150 *023 and, from the time of P81, she and her
husband have an equal partnership regarding the value of these assets. If she wishes to “protect” her assets, she may designate some of
the assets as 5r12 }8Y 202), in which case the husband, upon divorce/death, must return them based on their value at the time of marriage.
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I 7» mwn: status of the property of the nna1
a  If she acquires property, she may sell and buy
b  If she dies (as D2’ nIMWw) — disposition of her property:
i w2 nonod are divided between both houses (arn w7 ,Hvan »wIv)
ii  n"a:everything stays in its place:
1 »Yn o031 - heirs of the woman (her father’s house)
2 512 18¥ 12103 — heirs of the husband
¢ If ma» is performed, she is like a full wife — but the n21n3 comes from the 1%t husband’s estate
i Full wife — now requires va and may return her as any wife, (n® nWR 1Mo’} doesn’t remain)
ii ~ namd - since he was “given” this wife; but if there isn’t enough in the 1% brother’s estate, it comes
from his — nR¥INY PYI NOP RN ROV
I Explanations for distinction between &0 Rw
a  ROw:
i Rwn —she fell to ma» from POIPR > POIVR NP>t makes her an NVYIR-minus; all belongs to her
1 proof: na disallow n%nn3aY a sale by a regular N1 X; here they allow nnnab
ii XD - she fell to ma» from PrRIWV1I > PRIV NPt makes her a NRWI-minus; split
1 proof: "1 invalidate a sale of a NX1w3; here they maintain she splits
b nax:
i challenge: if so, let them disagree about m719 while she’s alive)
ii ~ Rwm —she’s alive; since her status is '®™, her claim is stronger and the sale is valid
iii R9v - she’s dead; everyone is a pav, therefore it’s either split or follows the contours of npm
c oM
i challenge: since when do w2 maintain 'R "0 XX pav PR, that they would agree in the xw»1?
1 Proof: man and heirs die, unclear who died first, ¥”a maintain that the o1 split with the n"ya
(even though the w1 are 'R)
2 Defense: w”"a maintain that a 90w whose time has come is considered collected (i.e. makes holder
of 10w considered D012 PrMN)
(a) Support: w"a maintain that a nvyo who may not drink nv1o ’n collects N2> (v. 1)
Question on challenge: why doesn’t »aR use this nwn as a challenge?
Answer: thinks we may encourage N2 in any case, due to xyn
Question #2: why doesn’t »ar challenge from split of n21n3 in our mwn?
Answer: he reads mwn differently, such that the n21n3 question wasn’t addressed, just D031
(a) Support (»wx "7): order of division indicates that n213 was ignored in answer
ii ~ Rwn: property came to her as b2’ n9mW — 021> has no claim
iii Rov: property came to her while married to her first (now deceased) husband
1 premise: »ar must maintain that regarding nYn »02), they are equal partners (2 split)
d xaw
i challenge (x¥37): all agree that his control is greater than hers
ii  premise: both cases, assets fell to her before mya»
iii ®wm: he didn’t perform Jnxn
iv R20: he performed 9n&n — according to v”1, 1Xn makes her MRV PADY NOIIR IRTN
e mn»ia:
i supporting 817 — in name of X"
1 challenge: X" minimized v"2’s assessment of RN
2 defense: perhaps only vis-a-vis v3, but she still is considered quasi-n®wi1 regarding property
ii ~ supporting »ar —in name of XN 9270V "
f X989 17 supports »ar (noting problem with nnn, as per challenge of ®a7)
i wording of nny Pr¥M Poid indicates that in this case, she was married to o2’
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